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ID: I
Geometry I - Mr. C. Name

Practice Set I - Inverses of Linear Functions

Find the inverse of each function.

Date

4
-4x - 12

Period

2 2
l )  e ( x ) =  - x  +  -' a a

J ,  J

3) fG\ =l t  *  I
4 4

5) g(t) =2x - |

1 2 - 8 x
7) g(x) = 

3

Use the composition of the two given

\  f ( " )=-2x

h(*\ = -!*
2

t t )  / ( x ) = x -  1

8(x)= x + I

D fG)=
6 + 2 x

g  fQ)=

a
J

x - 1 7

f ( * ) = r - z

s(")= 6x + 3

functions to show if thev are inverses.

tO) / (x) :  -x *  3

s(')= -x + 3

t2) dx) =

.f(,) =

-72 - 5x

6)

8)

B)  h (x ) :

"f(,) =

- 4 x - 8
a
J

-2x -  l0

s  1 0
l 5 )  / ( . t ) = - " x - '

a a
J J

,  \  - 3 + x
g(x) = 

{̂

t 7 )  f G ) = 3 x + 3
2

a
. 1

A) glx) = -2 +;x

f ( x ) : l t  *  !' a a

J J

l Q  h ( x ) = x * 3

f ( ' ) = * + q

2o\ hG\= ar - 1
1 0 2

Find the inverse and graph the function with its inverse. Graph the dashed line y = x.

18) dx) = 4x + 13

19) s(x) =
- 1 2 + x



Answers to Practice Set I - Inverses of Linear Functions (ID: 1)
a
1

l )  g - ' ( x ) =  - l  +  ̂ x
2

l 1

5)  e - l (x )=  ax  +  
'

2 2
9) Yes
13) No
r7)

2\  f - tk \  -  3x  -  6

2

O  f - ' ( * ) = x t 2

l0) Yes
14) Yes

f - ' ( r )  -  2 ' -  3

\  f - ' ( * ) = 4 x - 1

7 \  s - t ( r \  = -3 '  
*  

"8
I l)  Yes
15)  No
1 8 )

D f- ' ( t )  = 4x + l7

8) s-r(x)= ! "  -  I
6 2

12) Yes
16) No

- r .  \  |  1 3
s  ( x ) =

4 4

l r - ' ( r )= t *T t
20)

g ' ( t ) =  3 x + 1 2


